karce
W

lectric

DATA SHEET: TEMBREAK 2 $125-NJ MCCB

Codigo Larce 3P: 0403003001 0403003002 0403003003
0403003004 0403003005 0403003006

@

MCCB Electrical Characteristics to IEC 60947-2, EN 60947-2, JIS C 8201-2-1 ANN.1, AS/NZS 3947-2, NEMA AB-1

TERASAKI

Innovators in Protection Technology

Frame reference Quantity Unit Condition
a A) of Frame 125
Model S125
Number of Poles 3,4
Type NJ
In (A) 50°C 20, 32, 50
63, 100
125
Electrical characteristics
Rated operational voltage Ue (A) AC 50/60 Hz 690
DC 250
Rated insulation voltage Ui V) 800
Rated impulse withstand voltage Uimp (kv) 8
Ultimate breaking capacity leu (kA) 690V AC 6
(IEC, JIS, AS/NZS) 525V AC 22
440V AC 25
400/415V AC 36
220/240V AC 50
250V DC 25
Service breaking capacity les (kA) 690V AC 6
(IEC, JIS, AS/INZS) 525V AC 22
440V AC 25
400/415V AC 36/30
220/240V AC 50
250V DC 19
. . (kA) 480V AC 22
Rated breaking capacity (NEMA) 240V AC 50
Adjustable thermal, adjustable magnetic |
Fixed thermal, fixed magnetic
Microprocessor
Utilisation category A
Installation
Front connection (FC) [ |
Extension bar (FB) °
Cable clamp (FW) °
Rear connecton (RC) °
Plug-in (PM) °
Din rail mounting (DA) °
Dimensions height (mm) 155
width (mm) | 3 pole, (1 pole) 90
; 4 pole 120
Weight depth (mm) 68
weight (kg) 3 pole, (1 pole) 1.1
4 pole 1.4
Direct Opening Action u
Toggle operation n
Door mounted (HS) / breaker mounted handle (HB) °
Motor operation (MC) L4
Endurance Electrical cycles 415V AC 30,000
Mechanical cycles 30,000
B standard ® Optional - Not Available

Page 1 of 4



Larce @

TERASAKI

| ectric Innovators in Protection Technology
DATA SHEET: TEMBREAK 2 $125-NJ MCCB
Outline Dimensions $125-NJ
ASL: Arrangement Standard Line H: Handle Frame Centre Line
Front connected Preparation of conductor With extension bars Drilling plan
9 (optional)
NI
3P 4P Xz
Interpole barrier 17(;0() 3P 4P
(re—rnpovawr\ Il M8 screw 24,
i R R ]
+ + ]+
h t
90 ﬂj \@‘ %

92(3R 4P)

Rear connected

Panel cutout

Drilling plan (Front view)
Mounting plate K 4P 3': 4;
ma;
/1 L L 45 45
-
Fany Fany FanY N 7N
# YTy N AN ZAA =74
3 88 e hi
DD DD
46 ] |46 ]
30 30 m 92 122
60 30,30 30 [\ M4X0.7
Stud can be Tapped hole Panel cutout dimensions shown give an
turned 45°or 90° allowance of 1.0mm or more around the
handle escutcheon.
Front connected with Motor Operator
3P 4P Preparation of conductor Drilling plan Panel hinge position (hatching area)
bottom view
Interpole barrier . —_
(removable) Mounting hole 154 % 3p 4P
/ - Front panel t2 £
24 [
) iy /" M8 screw 'S ] il
H 17(max.) f
max.t5 + | + |+ —
i o
Operating knob i [l
: 8 3
i 2
‘ 100 | 10
1 1 200 s s 200
B ./ M4x0.7
Connector plug Mounting screw —@J Lﬂ* Tap);)oed Fole
90
3030 30,
45 75
Rear connected with Motor Operator
Drilling plan Panel cutout
(Front view)
3P 4P 4P
Operating knob ] 3P
H i [
Fany rany [ Fany YA WanY
ANZARNP [ ANPANP aa vo e oy ES
e Y3 @
OO0 [
N 45
Pad lock Maxo0.7 .m_‘ 30, w 50
Connector plug Stud can be screw 9 60 30].30,| 30\ M4x0.7
turned 45°or 90° Tapped hole Panel cutout dimensions shown
5.5, 164.5 give a(rj\ ap]llo;/]vanézle of 1A5nr;]m
around the handle escutcheon.
| |28(max.)

Page 2 of 4



Larce @

Iect

DATA SHEET: TEMBREAK 2 $125-NJ MCCB

Outline Dimensions S$125-NJ Plug in Version
ASL: Arrangement Standard Line HL: Handle Frame Centre Line

ric

Outline Dimensions

3P 4P

Mounting
it hole i

170

Mounting screw

Support or rail

Termination of Busbar

Preperation of conductor

Mounting screw
M6x14 max.

Mounting on a support or rails (shown with optional connection bars oriented for rear access)

Drilling plan(front view)

Detail of connecting part
Oriented for rear access

3p 4p
L4 L4
Support or rail 28.5“
. L 08.5 S
5 T
m ©
+ |+ + + | % T ﬁ%
= — 0
¢ ] < ﬂ 4.9
ik -
el £
222 222
Mouniing screw
Mounting through the backplate (shown with optional connection bars oriented for rear access)
Drilling plan(front view) Detail of connecting part
Oriented for rear access
Mounting Plate
Mountin:
i 206 OF 4P 4-06 288
i i 085 4§
- T
L E S il
T
p
li% 4.2
¢ 3|8
3 - 22.2 22.2
5
30 60
94 124
Mounting on the backplate (optional connection bars must be oriented for front access)
(rear view) Drilling plan(front view) Detail of connecting part
Insulating plate . Oriented for front access
Mounting screw M5 NUT Mounting Plate
3P ap 3P ap
L = L1} L1}
—
m 0
S & i a8
B ¢ o o | 90
- 0 ©
3.2t °
21.8
2-06 4-06
30 60
30|30 30 (30|30

Mounting plate
Insulating plate

Note that the insulation plate (supplied as standard) must be fitted between the base and the backplate.

Page 3 of 4



Tripping Time

Lorce © TERASAKI

Iectrlc

DATA SHEET: TEMBREAK 2 $S125-NJ MCCB

Time/Current Characteristic Curves Time/Current Characteristic Curves
S125-NJ (20A to 100A) S125-NJ (125A)
4
. . 3 . .
|| Magnetic trip current ) Magnetic trip curren
I, L I, I
(A) (A) 5 (A) A
- 1 ! 1 20 ] 24048 40 || - t 1 125 1250250
1 T T T T 32 i 38477 30
50 600120 20
63 756+151
| 100 1200240 ©
\\N ¢
AR e X
\\ \ T 50-10 ‘A(max)i 4 —)
3
VD \
\{ 20-32A(max) 2 ]
125A(max)
N 1
N AN % ' N
| | 7\ \\_ 30 t N T
| so-to0amin /N N 20 - N
\ ‘\\ “E> _125A(min) K
NN N 1 PiEwlh
NN T AN =) s D T
N AN £ \ T \
NN 2 : T T
AN S = A I K
1] | 3 1 I
1 I 1 I
. A\ . L
1 I 1 I
1 I 1 I
1 T 1 t t
T T 0.8 t T
T U 0.6 T t
T T 05 T T
T T 04 T I
T T 03 T T
1 1 02 1 1
[T | || Adjustable setting range 1 [ Adjustable setting range
: LIO : HII of magnetic trip o : Lo ! HI of magnetic trip
1 t 0.08 t H i
1 1 0.06 1 I
t t 0.05 + )
T A3 0.04 t Y
} + 0.03 i s
1 il T . 1 il P
T 0.02 T
1 1
1 1
1 0008 I
: 0.006 :
29 v 9o Q 9 9 o Q2 9 9999 [=3 [=3 Qo Qo o o 999 0.005, 29 v 9 Qo 9o 9 [=3 Qo 9 99 99 Qo Qo Qo =] [=3 o 9 99
88888 R E8 € 38888 8§ B E& 8 EEEE 88888 K EFE§ € 38888 § B8 & 8 5888
E 2 8 & 8 2 8 8RS8 2 2 2 & 8 2 8 8RS8
Percent Rated Current Percent Rated Current

Oficina Comercial: Hannover 5461, Nufioa, Santiago
0 rce Bodega Principal: Lucrecia Borgia 2736, PAC, Santiago
Planta Industrial: Ruta 68 Km.70, Zona Ind. El Refugio, Casablanca

I ectric © +56226513330 "™ contacto@larce.cl www.larce.cl
Page 4 of 4



